

# SVD PODUCTOR

# **Business Plan**



# **About Company**

SVNPay is a digital platform of SVN Ayurveda Private Limited which provides you a fixed cashback on using your mobile recharge, DTH recharge, electricity bill etc. We all have the same goal to reach our service to every person and bring a change in your life by providing a good service to everyone.



## **CEO Profile**

Professional Networker with over 10 years of experience, holding a Post Graduate degree and an LLB, which provide a strong foundation in advanced education and legal expertise.





# **Company Vision**

SVN PAY is on the mission to bring Maximum people On SVNAPL Digital World in the upcoming years. So that they can generate regular income through SVN ayurveda private ltd .



# **Company Mission**

At SVN PAY, we are on a mission to rejuvenate the usage of all recharge services and bill payments, we bring you a reliable solution to get a fixed income for all of you, with a tremendous cashback facility. Join us for such a wonderful future where we can provide you with a good lifestyle in every way.

### **Customer Satisfaction**

**Operation Exellence** 

# Vision & Mission

Leadership devlopment

# Legal Documents

भारत सरकार

GOVT. OF INDIA

Signature No

fied by

ABNCS2568Q



आयकर विभाग	ग 🦛	भारत सरकार
INCOME TAX DEPARTMEN	T 🤐	GOVT. OF INDIA
		Apr 19, 2024
Ref.No.:883059237020801171/TAN/NEW		
FO, SVN AYURVEDA PRIVATE LIMITED SvO SHREE NIWAS TYAGI 2-7 52, TYAGI NAGAR HAPUR, HAPUR GHAZIABAD-245101 UTTAR PRADESH TEL. NO.:011-9335162060		
Sir/Madam, Sub : Allotment of Tax Deduction Account Nur as per the Income		
Kindly refer to your application (Form 49B) date this connection, the following TAN has been is:		allotment of Tax Deduction Account Number. In action:
MRTS310	a 100 Moundary a 100 Miles Sory a	Control of the second system of the second syste
Please quote the same in all TDS challans,TDS well as other documents pertaining to such tran		ns, Tax Collection at Source(TCS) returns as
and faster processing of TDS returns.		necessary to ensure credit of TDS paid by you
		ount Number under section 206CA. rns, including e-TDS returns. e-TDS returns wil
not be accepted if TAN is not quoted. This supersedes all the Tax Deduction / Collec	tion Account Number, al	loted to you earlier
		Income Tax Department
This is a computer-generated letter. Hence, sig	anature is not required	
Caution : Income Tax Department does not send e- name, password, details of ATM, bank accounts, er pasis of emails.	mails regarding refunds an redit cards, etc. Taxpayers a	d does not seek any taxpayer information like user re advised not to part with such information on the
ternestary e TOS Internation e TOS Internation e TOS internation e TO 29 stannadam e TOS Internation e TOS Internation e TOS Internation e e TOS internation e TOS Internation e TOS Internation e TOS Internations	R Hannadary & TOS Internation, & TO = TOS Internationy & TOS Internationy & dam = TOS Internationy = TOS Intern dam = TOS Internationy = TOS Interna-	
	TTT	



		2			
		Government of Ir	dia		
		Form GST REG-			
		[See Rule 10(1)]			
		Registration Certif	licate		
	Registration Number : 09ABN	CS2568Q1Z9			
1.	Legal Name	SVN AYURVEDA PRIVATE	LIMITED	-	
2.	Trade Name, if any	SVN AYURVEDA PRIVATE	LIMITED	200	
3.	Additional trade names, if any			10	
4.	Constitution of Business	Private Limited Company			
5.	Address of Principal Place of Business	Building No./Flat No.: hou: Road/Street: Tayagi nagar City/Town/Village: Salai District: Hapur State: Uitar Pradesh PIN Code: 245101	se no 2-7 52	0	
		20			
6.	Date of Liability	0			
6.	Date of Liability Period of Validity	From 07/05/2024	То	Not Applicable	
-		From 07/05/2024 Regular	То	Not Applicable	
7.	Period of Validity		To	Not Applicable	
7. 8. 9.	Period of Validity Type of Registration	Regular		Not Applicable	
7. 8. 9.	Period of Validity Type of Registration Particulars of Approving mature	Regular Centre		Not Applicable	
7. 8. 9. Sigr	Period of Validity Type of Registration Particulars of Approving nature	Regular Centre Signeoure Not Walfied Digitally signed by DF GOODS A SERVICES TAX NET WORK OF Date: 2004 SC OF ADVI-14 IST		Not Applicable	
7. 8. 9. Sigr Nam	Period of Validity Type of Registration Particulars of Approving mature	Regular Centre Signesure Not Walfied Digitally signed by DF GOODS # SERVICES TAX SET WORK BY Date: 2014 SC OF Another HIST Pradeep Saxena		Not Applicable	

This is a system generated digitally signed Registration Certificate issued based on the approval of application granted on 07/05/2024 by the jurisdictional authority.



Recharge Recharge Re		ـــ الله الأ ب			
EXPLORE THE BASE OF ONLINE OF ONLIN	1 ( ) ( )				
EASE OF ONLINE VN PAY VN PAY COMPANDENT WITH COMPANDENT COMPAN	( <sup>1</sup>				
Add Fund     Mobile   DTH   Recharge   Mobile   DTH   Recharge   Recharge   Recharge   Credit Card   Payment   Payment   Loans & Credit Cards	A CARACTER STATE				
My Bills Mobile Mobile Credit Card Payment Loans & Credit Cards	•				
Mobile DTH Fe Recharge Recharge Re Credit Card LPG Lig Payment Payment Pa	Fund Wallet				
Mobile DTH Fe Recharge Recharge Re Credit Card LPG Lig Payment Payment Po Loans & Credit Cards					
Payment Payment Pa		Postpaid Recharge			
Loans & Credit Cards	<b>4</b> ght Bill yment R	OTT Recharge			
Pay Personal C	credit Card	SL			
Home Business		Profile			



NO RISK-NO LIABILITY. NO LEG MAINTAIN, NO CAPPING, NO MATCHING

# **Power of Svnpay**

**INSTANT MONEY** 

MONTHLY 9%. REWARDS INCOME.

**INSTANT WITHDRAWAL 24X7.** 

**NO-ADMIN CHARGE, NO HIDDEN CHARGE** 

**UNLIMITED REFER & MULTIPLE WAY OF EARNING.** 

FAMILY SUPPORT FUND WITH NOMINATION FACILITY.

**COMPANY TURNOVER 2.5% ROYALTY STARTING FROM 1ST LEVEL.** 

**10.25% C.T.O DISTRIBUTION DAILY ROYALTY** 

**UNLIMITED PASSIVE INCOME FROM SVN PAY** 

LEGAL-100% FOLLOW GOVT. GUIDELINE OF DIRECT SELLING.

**TRANSFER YOUR BUSINESS TO YOUR NOMINEE** 



### **REGISTRATION FREE**

**100% TRUSTED** 

### **HIGH CLASS SECURITY**

**BEST SERVICE** 

**BIG INCOME** 

### **24X7 SUPPORT SYSTEM**

### **EASY TO START**

### **100% TRANSPARENT**

## **FAST TRANSACTION**

### **100% SECURE**







### **TIME FREEDOM** "EMBRACE FREEDOM'S BREEZE, SAVOR LIFE'S EASE"

**LUXURY CAR** "ELEVATE YOUR DRIVE TO PURE ELEGANCE."

**LUXURY HOUSE** "ELEVATE YOUR LIFESTYLE WITH TIMELESS LUXURY LIVING."

### **WORLD TRIP**

"EXPLORE THE GLOBE, LIVE YOUR DREAMS, ONE JOURNEY AT A TIME."

# **JOINING PACKAGE**



₹597 ₹997 **500 BV** 

PRIME PACKAGE



# **SPECIAL** OFFER

# ₹1197 ₹1594 1000 BV

# **SUPER PRIME** PACKAGE

# **Prime - S Prime Services Commission Chart**



NOTE= PRIME -4000/-Wallet, SUPER PRIME-5000/- AFTER THIS 1%

# **TYPE OF INCOME**



### **REWARD & TOUR**

### **MOBILE FUND**

### **BIKE FUND**

### **CAR FUND**

### LUXURY CAR FUND

### LUXURY HOUSE FUND

### **ROYAL FUND**

# **REFERAL COMMISSION**

# **Prime member**

# Image: Weight of the second secon

All Prime members will receive referral commission as per referral package.





All Prime members will receive referral commission as per referral package.

# Prime package level



Team	Total Income	
5	1000	
25	1250	
125	3125	
625	9375	
3125	31250	
15625	78125	
78125	390625	
390625	1953125	
1953125	9765625	
9765625	48828125	
Continue	Continue	

# Super Prime package level

Level	Distribution	income / Person	Team	Total Income
1	50%	500	5	2500
2	10%	100	25	2500
3	5%	50	125	6250
4	3%	30	625	18750
5	2%	20	3125	62500
6	1%	10	15625	156250
7	1%	10	78125	781250
8	1%	10	390625	3906250
9	1%	10	1953125	19531250
10	1%	10	9765625	97656250
11-15	1%	10	Continue	Continue

# Super Team performance bonus

From the 1st to the 15th day, with 15 IDs, L1 = 1.5% CTO over a period of 15 days.

From the 16th day to the last day of the month, with 15 IDs, L1 = 1.5% CTO over a period of 15 days.

# 0 -:-

# <u>Royalty Income(Perday)&tour</u>



# **\*\* ONE TIME 3 LEVEL ROYALTY APPLICABLE\*\***





Rocket 🚀 Mode Plan Eligibility..

After Platinum Rank, for the next rank, the business of your **<u>TOTAL TEAM</u>** of 5 lavel to 15 lavels will be added to achieve your next rank. The rocket mode plan will be effective from the first of any month.

**Started on 01 Jan 2025 to onwards** 

MONTHLY RANK & REWARDS IF YOUR RANK GETS UPGRADED BY 25TH THEN YOU WILL GET REWARD INCOME IN THE SAME MONTH.						
RANK	TEAM	MONTHLY REWARD INCOME	TOTAL FUND	MONTHLY C.T.O.	L1 BUSINESS MONTHLY	
BRONZE	DIRECT (7500 BV)	_	-	-	-	
SILVER	<b>BV EQUAL TO 5 BRONZE +5</b>	MOBILE FUND	₹ 16,000	2.5%	500 BV.	
GOLD	<b>BV EQUAL TO 5 SILVER +15</b>	BIKE FUND	1.25 LAKH	1.75%	500 BV.	
PLATINUM	<b>BV EQUAL TO 5 GOLD +45</b>	CAR FUND	7 LAKH	1.50%	1000 BV.	
DIAMOND	<b>BV EQUAL TO 5 PLATINUM +135</b>	LUXURY CAR FUND	51 LAKH	1.25%	1500 BV.	
KOHINOOR	<b>BV EQUAL TO 5 DIAMOND+405</b>	HOUSE FUND	1 CR	1%	AS PER	
AMBASSADOR	<b>BV EQUAL TO 5 KOHINOOR +1215</b>	ROYAL FUND	1.51 CR	1%	COMPANY TURM	

# **Family Support System** (10 LAKHS)

### **Family support fund**

Eligibility... Silver Rank Achiever And Above **Term & Condition...** 

1. The family assistance amount will completely depend on **DISTRIBUTORS** cooperation.

2.Your Id Should be Continuously active.

3.Family Support fund Will not be Valid in case of a Natural disaster.

4. Family Support Fund not be valid in case you Commit Suicide.

5.Family Security Fund will be applicable on Death and 100% disability.





# **High lights**

Registration is free 2% TDS Deduction as per Govt Rule. No admin Charge Self Fund wallet 100 Rs Minimum Bank withdrawal 180 Rs Minimum P2P transfer 50 Rs **Instant Withdrawal 24X7 Customer Support** 



# **Our Head office**

# H.N 146,KRISHNA BHAWAN, PUCCA BAGH (DELHI NCR),HAPUR, UTTER PRADESH PIN 245101

# **Contact Us**



Contact to our email svnayurvedapvtltd@gmail.com

Our whatsapp number +918477881141



Visit our website
WWW.SVNapl.com





# Thank You For Your Attention



Visit Our Website
WWW.SVNAPI.com

